
Q.1 Statements/  कथन: F > R ≥ T = E > W ≤ Q      

Conclusions/ ननष्कर्ष : I. E < F 

II. Q ≥ T

(IBPS RRB 

CLERK PRE 2022)

(1) Only conclusion I follows. 

(2) Only conclusion II follows. 

(3) Either conclusion I or conclusion 

II follows. 

(4) Neither conclusion I nor 

conclusion II follows. 



Q.2 Statements/  कथन: : W = G ≥ T = C ≤ V ≤ B 

Conclusions/ ननष्कर्ष : I. W > C 

II. W = T 

(IBPS RRB 

CLERK PRE 2022)

(1) Only conclusion I follows. 

(2) Only conclusion II follows. 

(3) Either conclusion I or conclusion 

II follows. 

(4) Neither conclusion I nor 

conclusion II follows. 



Q.3 Statements/  कथन: :K > I ≥ G > F ≤ T < R

Conclusions/ ननष्कर्ष : : I. K > R

II. R > G 

(IBPS RRB 

CLERK PRE 2022)

(1) Only conclusion I follows. 

(2) Only conclusion II follows. 

(3) Either conclusion I or conclusion 

II follows. 

(4) Neither conclusion I nor 

conclusion II follows. 



Q.4 Statements/  कथन: Q > O ≥ P = K < U ≤ Z  

Conclusions/ ननष्कर्ष : I. Z > K

II. Q > U 

(IBPS RRB 

CLERK PRE 2022)

(1) Only conclusion I follows. 

(2) Only conclusion II follows. 

(3) Either conclusion I or conclusion 

II follows. 

(4) Neither conclusion I nor 

conclusion II follows. 



Q.5 Statements/  कथन: K < G ≤ D < C > R ≤ Y 

Conclusions/ ननष्कर्ष : I. C > G 

II. K < D 

(IBPS RRB 

CLERK PRE 2022)

(1) Only conclusion I follows. 

(2) Only conclusion II follows. 

(3) Either conclusion I or conclusion 

II follows. 

(4) Neither conclusion I nor 

conclusion II follows. 



Study the following sequence carefully and answer the 

given questions.

ननम्ननिनित अनुक्रम का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के 

उत्तर िें।

B @ 9 # C 1 £ 2 8 D µ 7 K 5 L E % U & F € M G 4 ! 3 

Z ? 6 X ¥ P 5 A © 6
Q.6 Which of the following element is sixth to the left of the 

eighth element from the right end of the given arrangement?

ननम्ननिनित में से कौन सा तत्र् िी गई व्यर्स्था के िाएँ छोर से आठर्ें तत्र् 

के बायीं ओर छठा ह?ै

(IBPS 

RRB CLERK PRE 2022)

(1) M 

(2) 4 

(3) G 

(4) 3 

(5) None of 

these



Study the following sequence carefully and answer the 

given questions.

ननम्ननिनित अनुक्रम का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के 

उत्तर िें।

B @ 9 # C 1 £ 2 8 D µ 7 K 5 L E % U & F € M G 4 ! 3 

Z ? 6 X ¥ P 5 A © 6
Q.7 How many such letters are there in the given series 

which are immediately preceded by a symbol and 

immediately followed by a number?

िी गई श्रृंििा में ऐसे दकतने अक्षर हैं निनके ठीक पहिे एक प्रतीक और ठीक 

बाि एक सृंख्या ह?ै

(IBPS 

RRB CLERK PRE 2022)

(1) Two

(2) Four

(3) None

(4) Three

(5) More than 

four



Study the following sequence carefully and answer the 

given questions.

ननम्ननिनित अनुक्रम का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के 

उत्तर िें।

B @ 9 # C 1 £ 2 8 D µ 7 K 5 L E % U & F € M G 4 ! 3 

Z ? 6 X ¥ P 5 A © 6
Q.8 If all the letters are dropped in the given series, which 

element will be eleventh from the right end?

यदि िी गई श्रृंििा में सभी अक्षर हटा दिए िाएृं, तो िायें छोर से ग्यारहर्ाृं 

तत्र् कौन सा होगा?

(IBPS 

RRB CLERK PRE 2022)

(1) 4

(2) % 

(3) & 

(4) 5 

(5) None of 

these



Study the following sequence carefully and answer the 

given questions.

ननम्ननिनित अनुक्रम का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के 

उत्तर िें।

B @ 9 # C 1 £ 2 8 D µ 7 K 5 L E % U & F € M G 4 ! 3 

Z ? 6 X ¥ P 5 A © 6
Q.9 Which of the following element is fourth to the right of 

the ninth element from the left end of the given 

arrangement?

ननम्ननिनित में से कौन सा तत्र् िी गई व्यर्स्था के बाएृं छोर से नौर्ें तत्र् के 

िाएृं से चौथा ह?ै

(IBPS 

RRB CLERK PRE 2022)

(1) 8 

(2) K 

(3) E 

(4) P 

(5) L 



Study the following sequence carefully and answer the 

given questions.

ननम्ननिनित अनुक्रम का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के 

उत्तर िें।

B @ 9 # C 1 £ 2 8 D µ 7 K 5 L E % U & F € M G 4 ! 3 

Z ? 6 X ¥ P 5 A © 6
Q.10 . How many such symbols are there in the given series 

which are immediately preceded by a vowel and 

immediately followed by a number?

िी गई श्रृंििा में ऐसे दकतने प्रतीक हैं निनके ठीक पहिे एक स्र्र और ठीक 

बाि एक सृंख्या ह?ै

(IBPS 

RRB CLERK PRE 2022)

(1) None 

(2) One

(3) Two

(4) Three

(5) More than 

three



Study the given information carefully and answer the given 

questions.

िी गई िानकारी का ध्यानपूर्षक अध्ययन करें और दिए गए प्रश्नों के उत्तर िें।

(IBPS RRB CLERK PRE 2022)
Six persons were born on two different dates 

either 11 or 22 of three different months viz. 

September, October and November. F was 

born on an odd date in the month which has 

even days. Two persons were born between 

Q and F. More than two persons were born 

between Q and T. R was born before D and 

after B. 

छह व्यनियों का िन्म तीन अिग-अिग महीनों की िो 

अिग-अिग तारीिों या तो 11 या 22 पर हुआ था। 

नसतृंबर, अक्टूबर और नर्ृंबर. F का िन्म सम दिन र्ािे 



Six persons were born on two different 

dates either 11 or 22 of three different 

months viz. September, October and 

November. F was born on an odd date 

in the month which has even days. 

Two persons were born between Q 

and F. More than two persons were 

born between Q and T. R was born 

before D and after B. 

Q.11 How many persons were born 

after R?

R के बाि दकतने व्यनियों का िन्म 

हुआ?
(1)Two 

(2) One

(3) None

(4) Three

(5) None of 

these 



Six persons were born on two different 

dates either 11 or 22 of three different 

months viz. September, October and 

November. F was born on an odd date 

in the month which has even days. 

Two persons were born between Q 

and F. More than two persons were 

born between Q and T. R was born 

before D and after B. 

Q.12 Who was born on 11th 

November?

11 नर्ृंबर को दकसका िन्म हुआ था?(1)  Q 

(2) F 

(3) D 

(4) T 

(5) None of 

these



Six persons were born on two different 

dates either 11 or 22 of three different 

months viz. September, October and 

November. F was born on an odd date 

in the month which has even days. 

Two persons were born between Q 

and F. More than two persons were 

born between Q and T. R was born 

before D and after B. 

Q.13 Who among the following was 

born in October?

ननम्ननिनित में से दकसका िन्म अक्टूबर 

में हुआ था?
(1) R 

(2) Q 

(3) D 

(4) Both R 

and D

(5) Both Q 



Six persons were born on two different dates either 11 or 

22 of three different months viz. September, October and 

November. F was born on an odd date in the month which 

has even days. Two persons were born between Q and F. 

More than two persons were born between Q and T. R 

was born before D and after B. 
Q14  Which of the following statement is true?/ ननम्ननिनित 

में से कौन सा कथन सत्य ह?ैI. More than four persons were born after T/T के बाि चार से 

अनिक व्यनियों का िन्म हुआ

II. Two persons were born between B and D /B और D के बीच 

िो व्यनियों का िन्म हुआ

III. At least one person was born after F/ F के बाि कम से कम 

एक व्यनि का िन्म हुआ

(1) Both II and III

(2) Only III

(3) Both I and II 

(4) Only I 

(5) All I, II and III 



Six persons were born on two different dates 

either 11 or 22 of three different months viz. 

September, October and November. F was born 

on an odd date in the month which has even days. 

Two persons were born between Q and F. More 

than two persons were born between Q and T. R 

was born before D and after B. 
Q.15. ____ persons were born after D./ . ____ व्यनियों 

का िन्म D के बाि हुआ था। (1) One

(2) Four

(3) Three 

(4) Two 

(5) None of 

these



There are seven members in a family in which two 

are married couples. S is grandmother of K. B is 

father in-law of A. C is mother of D. J is brother of K 

and his mother is D. J and K are unmarried. 

एक पररर्ार में सात सिस्य हैं निनमें से िो नर्र्ानहत िोडे हैं। S, 

K की िािी ह।ै B, A का ससुर ह।ै C, D की माँ ह।ै J, K का भाई 

ह ैऔर उसकी माँ D ह।ै J और K अनर्र्ानहत हैं।

(IBPS 

RRB CLERK PRE 2022)

Q.16 How is S related to D?/ S, D से दकस 

प्रकार सृंबृंनित ह?ै (1) Mother

(2) Sister 

(3) Mother-in-

law

(4) 

Grandmother



There are seven members in a family in which two 

are married couples. S is grandmother of K. B is 

father in-law of A. C is mother of D. J is brother of K 

and his mother is D. J and K are unmarried. 

एक पररर्ार में सात सिस्य हैं निनमें से िो नर्र्ानहत िोडे हैं। S, 

K की िािी ह।ै B, A का ससुर ह।ै C, D की माँ ह।ै J, K का भाई 

ह ैऔर उसकी माँ D ह।ै J और K अनर्र्ानहत हैं।

(IBPS 

RRB CLERK PRE 2022)

Q.17 How is C related to K?/ C, K से 

दकस प्रकार सृंबृंनित ह?ै (1) Mother 

(2) Mother-in-law

(3) Paternal 

grandmother

(4) Maternal 

grandmother



There are seven members in a family in which two 

are married couples. S is grandmother of K. B is 

father in-law of A. C is mother of D. J is brother of K 

and his mother is D. J and K are unmarried. 

एक पररर्ार में सात सिस्य हैं निनमें से िो नर्र्ानहत िोडे हैं। S, 

K की िािी ह।ै B, A का ससुर ह।ै C, D की माँ ह।ै J, K का भाई 

ह ैऔर उसकी माँ D ह।ै J और K अनर्र्ानहत हैं।

(IBPS 

RRB CLERK PRE 2022)

Q.18 How many female members in the family?/ पररर्ार 

में दकतनी मनहिा सिस्य हैं? (1) Two

(2) Four 

(3) Three

(4) Five

(5) Can’t be 

determined



Q.19   In the number ‘95273524’, how 

many pairs of the digits have the same 

digits between them (both forward and 

backward direction) as in the number 

series?

सृंख्या '95273524' में अृंकों के दकतने युग्मों के 

बीच सृंख्या श्रृंििा के समान (आगे और पीछे िोनों 

दिशाओं में) समान अृंक हैं?

(IBPS RRB 

CLERK PRE 2022)

(1) Four

(2) Two

(3) One

(4) Three

(5) More than 

four



Seven people sit around a 

circular table and they all are 

facing the center. One person sits 

between M and K. N sits 3rd to 

the left of K. D is neither an 

immediate neighbour of M nor N. 

G sits 2nd to the right of D. O sits 

2nd to the left of L.

सात िोग एक गोिाकार मेि के चारों 

ओर बैठे हैं और र्े सभी कें द्र की ओर मुि 

करके बैठे हैं। M और K के बीच एक व्यनि 

बैठता ह।ै N, K के बाएृं से तीसरे स्थान 

पर बैठता ह।ै D न तो M और न ही N का

ननकटतम पडोसी ह।ै



Seven people sit around a circular 

table and they all are facing the 

center. One person sits between M 

and K. N sits 3rd to the left of K. D is 

neither an immediate neighbour of M 

nor N. G sits 2nd to the right of D. O 

sits 2nd to the left of L.
Q.20 Who sits 4th left of 

D?/ 

D के बाएृं चौथे स्थान पर कौन 

बैठा ह?ै
(1) M 

(2) K 

(3) O 

(4) N 

(5) None of 

these



Seven people sit around a circular table 

and they all are facing the center. One 

person sits between M and K. N sits 3rd 

to the left of K. D is neither an 

immediate neighbour of M nor N. G sits 

2nd to the right of D. O sits 2nd to the 

left of L.

Q.21What is the position of G with 

respect to N?

N के सन्िभष में G का स्थान क्या ह?ै(1) 3rd to the 

left

(2) 2nd to the 

right 

(3) 3rd to the 

right 



Seven people sit around a circular table 

and they all are facing the center. One 

person sits between M and K. N sits 3rd to 

the left of K. D is neither an immediate 

neighbour of M nor N. G sits 2nd to the 

right of D. O sits 2nd to the left of L.

Q.22 How many persons sit between O 

and M when counted to the left of M? 

M के बाईं ओर से नगनने पर O और M के बीच 

दकतने व्यनि बैठे हैं? (1) More than 

four

(2) Three

(3) One

(4) Two

(5) None 



Seven people sit around a circular table 

and they all are facing the center. One 

person sits between M and K. N sits 3rd to 

the left of K. D is neither an immediate 

neighbour of M nor N. G sits 2nd to the 

right of D. O sits 2nd to the left of L.
Q.23 Which of the following sits 2nd to 

the right of K?

ननम्ननिनित में से कौन K के िायें से िसूरे 

स्थान पर बैठा ह?ै
(1) G 

(2) O 

(3) M 

(4) L 

(5) None of 

these



Seven people sit around a circular table and they all are facing 

the center. One person sits between M and K. N sits 3rd to the 

left of K. D is neither an immediate neighbour of M nor N. G 

sits 2nd to the right of D. O sits 2nd to the left of L.Q.24 Which of the following statement is true?/ ननम्ननिनित में

से कौन सा कथन सत्य ह?ैI. N and O are immediate neighbors/ N और O 

ननकटतम पडोसी हैं

II. D sits 2nd to the left of O/D, O के बाएृं से िसूरे 

स्थान पर बैठा है

III. One person sits between L and G /L और G के 

बीच एक व्यनि बैठा है

(1) Both II 

and III

(2) Only I

(3) Only III 

(4) Both I 

and II



Q.25 If it is possible to make a meaningful word with the second, 

fourth, fifth, and eighth letters of the word ‘ACHIEVED’, then 

which of the following will be the third letter from the right end of 

that meaningful word? If no meaningful word can be made, give 

‘X’ as the answer. If more than one meaningful word can be 

made, give ‘Y’ as the answer. 

यदि 'ACHIEVED' शब्ि के िसूरे, चौथ,े पाृंचर्ें और आठर्ें अक्षरों से एक साथषक 

शब्ि बनाना सृंभर् ह,ै तो ननम्ननिनित में से कौन सा उस साथषक शब्ि के िायें 

छोर से तीसरा अक्षर होगा? यदि कोई साथषक शब्ि नहीं बनाया िा सकता ह,ै तो 

उत्तर के रूप में 'X' िें। यदि एक से अनिक साथषक शब्ि बनाये िा सकते हैं तो 

उत्तर 'Y' िें।

(IBPS RRB CLERK PRE 2022)

(1) X

(2)  I 

(3) Y 

(4) D 

(5) C



Study the following questions and answer them by 

referring to the word sequence given below:                                    

(IBPS RRB CLERK PRE 2022)

ननम्ननिनित प्रश्नों का अध्ययन करें और नीचे दिए गए शब्ि अनुक्रम 

का सृंिभष िकेर उनके उत्तर िें:
LAB               FOX             SIP                 BET                     

WET Q.26 When first and third letter of each word is 

interchanged, then how many meaningful words will be 

formed?

िब प्रत्येक शब्ि का पहिा और तीसरा अक्षर आपस में बिि दिया 

िाए, तो दकतने अथषपूर्ष शब्ि बनेंगे?

(1) 

Three 

(2) One 

(3) Two 

(4) Five

(5) None 



Study the following questions and answer them by referring to 

the word sequence given below:                                                                           

(IBPS RRB CLERK PRE 2022)

ननम्ननिनित प्रश्नों का अध्ययन करें और नीचे दिए गए शब्ि अनुक्रम का सृंिभष 

िकेर उनके उत्तर िें:
LAB               FOX             SIP                 BET                     

WET Q.27 If each Consonant is changed to its previous letter and 

each vowel is changed to its next letter according to the 

English alphabetical series, then how many words contain at 

least one vowel?

यदि अृंगे्रिी र्र्षमािा श्रृंििा के अनुसार प्रत्येक व्यृंिन को उसके नपछिे अक्षर 

से और प्रत्येक स्र्र को उसके अगिे अक्षर से बिि दिया िाए, तो दकतने शब्िों 

में कम से कम एक स्र्र ह?ै

(1) None 

(2)  More than 

three

(3) Two 

(4) Three 

(5) None of 



Study the following questions and answer them by referring to 

the word sequence given below:                                    (IBPS 

RRB CLERK PRE 2022)

ननम्ननिनित प्रश्नों का अध्ययन करें और नीचे दिए गए शब्ि अनुक्रम का सृंिभष 

िकेर उनके उत्तर िें:
LAB               FOX             SIP                 BET                     

WET Q.28 If words are arranged according to the alphabetical series 

(as in the English dictionary) from left to right, which word will 

be third from the right end?

यदि शब्िों को र्र्षमािा क्रम के अनुसार (िैसा दक अृंग्रेिी शब्िकोश में) बाएृं से 

िाएृं व्यर्नस्थत दकया िाता ह,ै तो कौन सा शब्ि िाएृं छोर से तीसरा होगा?
(1) LAB 

(2) SIP 

(3) BET 

(4) WET 

(5) FOX



Study the following questions and answer them by referring to 

the word sequence given below:                                    (IBPS 

RRB CLERK PRE 2022)

ननम्ननिनित प्रश्नों का अध्ययन करें और नीचे दिए गए शब्ि अनुक्रम का सृंिभष 

िकेर उनके उत्तर िें:
LAB               FOX             SIP                 BET                     

WET Q.29 If each letter in each word is arranged according to the 

English alphabetical series from left to right, then how many 

meaningful words will be formed? 

यदि प्रत्येक शब्ि के प्रत्येक अक्षर को बाएँ से िाएँ अृंग्रेिी र्र्षमािा क्रम के 

अनुसार व्यर्नस्थत दकया िाए, तो दकतने अथषपूर्ष शब्ि बनेंगे?
(1) 

Three 

(2) One 

(3) Four 

(4) Two

(5) 

None



Seven persons A, B, C, D, E, F and G live in a building of 7 

floors but not necessarily in the same order. The ground 

floor is numbered as 1st floor, just above floor is numbered 

as 2nd floor and so on till the topmost floor is numbered as 

7th floor. Less than three persons live above F. One floor 

gap between E and F who lives above E. G lives just above 

B who lives on even numbered floor. The number of floors 

above D is same as the number of floors below A. C lives 

below A.

सात व्यनि A, B, C, D, E, F और G 7 मृंनिि की एक इमारत में रहते 

हैं िेदकन िरूरी नहीं दक इसी क्रम में हों। भूति को पहिी मृंनिि के रूप में 

क्रमाृंदकत दकया गया ह,ै इसके ठीक ऊपर की मृंनिि को िसूरी मृंनिि के 

रूप में क्रमाृंदकत दकया गया ह ैऔर इसी तरह सबसे ऊपरी मृंनिि को 7र्ीं 

मृंनिि के रूप में क्रमाृंदकत दकया गया ह।ै F के ऊपर तीन से कम व्यनि 

रहते हैं। E और F के बीच एक मृंनिि का अृंतर ह ैिो E के ऊपर रहता ह।ै 



Seven persons A, B, C, D, 

E, F and G live in a building 

of 7 floors but not 

necessarily in the same 

order. The ground floor is 

numbered as 1st floor, just 

above floor is numbered as 

2nd floor and so on till the 

topmost floor is numbered 

as 7th floor. Less than three 

persons live above F. One 

floor gap between E and F 

who lives above E. G lives 

just above B who lives on 

even numbered floor. The 



Seven persons A, B, C, D, E, F and G live in a 

building of 7 floors but not necessarily in the same 

order. The ground floor is numbered as 1st floor, just 

above floor is numbered as 2nd floor and so on till the 

topmost floor is numbered as 7th floor. Less than 

three persons live above F. One floor gap between E 

and F who lives above E. G lives just above B who 

lives on even numbered floor. The number of floors 

above D is same as the number of floors below A. C 

lives below A.

Q.30 How many persons live below G?/ G के नीचे 

दकतने व्यनि रहते हैं? (1) None 

(2)  Two  

(3)  Six  

(4) Four  

(5) None of 

these



Seven persons A, B, C, D, E, F and G live in a 

building of 7 floors but not necessarily in the same 

order. The ground floor is numbered as 1st floor, just 

above floor is numbered as 2nd floor and so on till the 

topmost floor is numbered as 7th floor. Less than 

three persons live above F. One floor gap between E 

and F who lives above E. G lives just above B who 

lives on even numbered floor. The number of floors 

above D is same as the number of floors below A. C 

lives below A.

Q.31. Who lives on the 5th floor?/ 5र्ीं मृंनिि 

पर कौन रहता ह?ै (1) D 

(2) A 

(3) F 

(4) G 

(5) C



Seven persons A, B, C, D, E, F and G live in a building of 7 

floors but not necessarily in the same order. The ground 

floor is numbered as 1st floor, just above floor is numbered 

as 2nd floor and so on till the topmost floor is numbered as 

7th floor. Less than three persons live above F. One floor 

gap between E and F who lives above E. G lives just 

above B who lives on even numbered floor. The number of 

floors above D is same as the number of floors below A. C 

lives below A.

Q.32 The number of persons live above B is same as the 

number of persons live below ___. 

B के ऊपर रहने र्ािे व्यनियों की सृंख्या ___ के नीचे रहने र्ािे 

व्यनियों की सृंख्या के समान ह।ै (1) E 

(2) A 

(3) F 

(4) C 

(5) None of 

these



Seven persons A, B, C, D, E, F and G live in a building of 7 

floors but not necessarily in the same order. The ground 

floor is numbered as 1st floor, just above floor is numbered 

as 2nd floor and so on till the topmost floor is numbered as 

7th floor. Less than three persons live above F. One floor 

gap between E and F who lives above E. G lives just 

above B who lives on even numbered floor. The number of 

floors above D is same as the number of floors below A. C 

lives below A.

Q.33 Which of the following statement is true?/ ननम्ननिनित 

में से कौन सा कथन सत्य ह?ैI.F does not live on even floor./ F सम 

ति पर नहीं रहता है

II. E lives above D ./ E, D के ऊपर रहता 

है

III. G lives on the 3rd floor./ G तीसरी 

मृंनिि पर रहता है

(1) Only I  

(2) Only II  

(3) Both I 

and II  

(4) Both II 

and III 

(5) None is 



Q.34 If each vowel of the word “QUALITY” is 

changed to the next letter of the English 

alphabets and each consonant is changed to 

the previous letter of the English alphabet, 

and then the alphabets thus formed are 

arranged in alphabetical order from left to 

right, which of the following will be fourth 

from the right end? 

यदि शब्ि "QUALITY" के प्रत्येक स्र्र को अृंग्रेिी 

र्र्षमािा के अगिे अक्षर से बिि दिया िाए और प्रत्येक 

व्यृंिन को अृंग्रेिी र्र्षमािा के नपछिे अक्षर से बिि 

दिया िाए, और दिर इस प्रकार बने अक्षरों को बाएृं से 

िाएृं र्र्षमािा क्रम में व्यर्नस्थत दकया िाए, िो 

ननम्ननिनित में से िायें छोर से चौथा होगा?

(IBPS RRB 

(1) K          (2) P           (3) V           (4) J       

(5) None of these



Q.35 Statements: Only a few Grapes are 

Mango./ केर्ि कुछ अृंगूर आम हैं

No Mango is Banana./ कोई आम, केिा 

नहीं है

Only a few Banana are Papaya./

केर्ि कुछ केिे पपीता हैं।

Conclusions: I. Some Mango are Papaya./ कुछ 

आम पपीता हैं।

II. No Mango is Papaya/ कोई आम 

पपीता नहीं है

(IBPS RRB 

CLERK PRE 2022)

(1) If only conclusion I 

follows.

(2) If only conclusion II 

follows.

(3) If either conclusion I or II 

follows.

(4) If neither conclusion I nor 



Q.36 Statements: Only a few City are Town./ केर्ि कुछ नसटी 

टाउन हैं

All Town are Metro. / सभी टाउन मेट्रो हैं।

Conclusions: I. Some City are Metro. / कुछ शहर मेट्रो हैं।

II. All City being Town is a possibility/ सभी नसटी 

के टाउन होने की सृंभार्ना है

(IBPS 

RRB CLERK PRE 2022)
(1) If only conclusion I 

follows.

(2) If only conclusion II 

follows.

(3) If either conclusion I or II 

follows.

(4) If neither conclusion I nor 



Q.37 Statements: Some Dolphin are Turtle./

कुछ डॉनफिन कछुए हैं।

All Turtle are Rabbit./ सभी कछुए 

िरगोश हैं।

A few Owl are Rabbit./कुछ उफिू 

िरगोश हैं।

Conclusions: I. All Dolphin are Owl./सभी डॉनफिन 

उफिू हैं।

II. Some Dolphin are not Owl./ कुछ 

डॉनफ़िन उफिू नहीं हैं।

(IBPS RRB 

CLERK PRE 2022)

(1) If only conclusion I 

follows.

(2) If only conclusion II 

follows.

(3) If either conclusion I or II 

follows.

(4) If neither conclusion I nor 



Q.38 Statements: Only a few River are Mountain./

केर्ि कुछ नदियाँ पर्षत हैं।

No Mountain is Concrete./ कोई 

माउृं टेन कृंक्रीट नहीं ह.ै

Some Concrete are not Bricks./

कुछ कृंक्रीट ईंटें नहीं हैं।

Conclusions: I. Some River are being Concrete is a 

possibility.

कुछ नदियों के कृंक्रीट होने की सृंभार्ना ह।ै

II. All Mountain can be river./ सभी 

माउृं टेन निी हो सकते हैं

(IBPS 

RRB CLERK PRE 2022)

(1) If only conclusion I 

follows.

(2) If only conclusion II 

follows.

(3) If either conclusion I or II 

follows.

(4) If neither conclusion I nor 



Q.39 Statements: 0% frocks are pants. 0% फ्रॉक 

पैंट हैं।

All shorts are frocks. सभी शॉटष 

फ्रॉक हैं।

A few jackets are pants. कुछ 

िैकेट पैंट हैं। 

Conclusions: I. Not a single pant is short. 

एक भी पैंट  शॉटष नहीं ह ै

II.A good number of jackets 

are not frocks.

िैकेट की एक अच्छी सृंख्या फ्रॉक 

नहीं है

(IBPS RRB 

CLERK PRE 2022)

(1) If only conclusion I 

follows.

(2) If only conclusion II 

follows.

(3) If either conclusion I or II 

follows.

(4) If neither conclusion I nor 



Q.40 Find the odd one out/ नर्र्म चुनें

(IBPS RRB 

CLERK PRE 2022)

(1) CBF 

(2) KJM 

(3) POS 

(4) VUY 

(5) SRV



Point P is 26m west of point S. Point G is 

52m north of point P. Point M is 39m east of 

point G and point K is 13m south of point G. 

Point H is 39m north of point S.

बबृंि ुP, बबृंि ुS से 26 मीटर पनिम में ह।ै बबृंि ुG, बबृंि ुP 

से 52 मीटर उत्तर में ह।ै बबृंि ुM, बबृंि ुG से 39 मीटर पूर्ष 

में ह ैऔर बबृंि ुK, बबृंि ुG से 13 मीटर िनक्षर् में ह।ै बबृंि ु

H, बबृंि ुS से 39 मीटर उत्तर में ह।ै (IBPS RRB 

PO PRE 2020)

Q.41 In which direction point P with 

respect to point M?

बबृंि ुM के सन्िभष में बबृंि ुP दकस दिशा में 

ह?ै

(1) South 

(2) South-east 

(3) North-east 

(4) East 

(5) None of 

these



Point P is 26m west of point S. Point G is 

52m north of point P. Point M is 39m east of 

point G and point K is 13m south of point G. 

Point H is 39m north of point S.

बबृंि ुP, बबृंि ुS से 26 मीटर पनिम में ह।ै बबृंि ुG, बबृंि ुP 

से 52 मीटर उत्तर में ह।ै बबृंि ुM, बबृंि ुG से 39 मीटर पूर्ष 

में ह ैऔर बबृंि ुK, बबृंि ुG से 13 मीटर िनक्षर् में ह।ै बबृंि ु

H, बबृंि ुS से 39 मीटर उत्तर में ह।ै (IBPS RRB 

PO PRE 2020)

Q.42 What is the shortest distance between 

point K and point H?

बबृंि ुK और बबृंि ुH के बीच न्यूनतम िरूी क्या ह?ै
(1) 13m 

(2) 26m 

(3) 39m 

(4) 25m 

(5) None of 

these 



Point P is 26m west of point S. Point G is 52m 

north of point P. Point M is 39m east of point G 

and point K is 13m south of point G. Point H is 

39m north of point S.

बबृंि ुP, बबृंि ुS से 26 मीटर पनिम में ह।ै बबृंिु G, बबृंि ुP से 

52 मीटर उत्तर में ह।ै बबृंि ुM, बबृंि ुG से 39 मीटर पूर्ष में ह ै

और बबृंि ुK, बबृंि ुG से 13 मीटर िनक्षर् में ह।ै बबृंि ुH, बबृंि ुS 

से 39 मीटर उत्तर में ह।ै (IBPS 

RRB PO PRE 2020)

Q.43 If Point Z is 13m north of point H, then what is 

the distance between point M and point Z?

यदि बबृंि ुZ, बबृंि ुH के 13 मीटर उत्तर में ह,ै तो बबृंि ुM और बबृंि ु

Z के बीच की िरूी क्या ह?ै (1) 13m 

(2) 26m 

(3) 39m 

(4) 25m 

(5) None of 

these 



Q.44 Six persons i.e. P, Q, R, S, T and U was born on 

different days of the same week starting from Monday to 

Saturday, but not necessarily in the same order. P was 

born on Friday. Two persons were born between U and P. 

One person was born between R and S. If T was born 

immediate before S, then who among the following person 

was born on Wednesday?                                (IBPS RRB 

PO PRE 2020)

छह व्यनि अथाषत P, Q, R, S, T और U का िन्म सोमर्ार से शननर्ार 

तक एक ही सप्ताह के अिग-अिग दिनों में हुआ था, िेदकन िरूरी नहीं दक 

इसी क्रम में हो। P का िन्म शुक्रर्ार को हुआ था। U और P के बीच िो 

व्यनियों का िन्म हुआ। R और S के बीच एक व्यनि का िन्म हुआ। यदि 

T का िन्म S से ठीक पहिे हुआ था, तो ननम्ननिनित में से दकस व्यनि का 

िन्म बुिर्ार को हुआ था?

(1) U 

(2) R 

(3) S 

(4) T 

(5) None of 

these



Q.45 If 2 is subtracted from each even digit and 1 is 

added to each odd digit in the given number 

‘2145673’, then how many digits will appear more than 

one in the new number thus formed?

यदि िी गई सृंख्या '2145673' में प्रत्येक सम अृंक में से 2 घटा दिया 

िाए और प्रत्येक नर्र्म अृंक में 1 िोडा िाए, तो इस प्रकार बनी नई 

सृंख्या में दकतने अृंक एक से अनिक दििाई िेंगे?

(IBPS RRB PO PRE 2020)

(1) None 

(2) One 

(3) Two 

(4) Three 

(5) None of 

these 



Q. 46 How many pairs of letters are there in the word 

“GRANDUAL” each of which have as many letters 

between them in the word as they have between them 

in the English alphabetical series?

शब्ि "GRANDUAL" में अक्षरों के दकतने िोडे हैं निनमें से प्रत्येक 

में उतने ही अक्षर हैं शब्ि में उनके बीच र्ैसे ही अक्षर हैं िैसे अृंगे्रिी 

र्र्षमािा श्रृंििा में उनके बीच होते हैं?

(IBPS RRB PO PRE 2020)

(1)Three 

(2)Four 

(3)Two 

(4)One 

(5)Five



Q.47 Statements: A few switch are boards./कुछ नस्र्च 

बोडष हैं।

Only board is wood./केर्ि बोडष िकडी

ह।ै

Only a few boards are strong./

केर्ि कुछ बोडष मिबूत हैं।

Conclusions: I. Some woods are switches./ कुछ 

िकनडयाँ नस्र्च हैं।

II. Some strong are not boards. / कुछ 

मिबूत बोडष नहीं हैं.

III. Some boards are switches./ कुछ बोडष 

नस्र्च हैं.

(IBPS RRB PO PRE 2022)

1. Both I and II 

follow 

2. Both II and III 

follow 

3. Both I and III 

follow 

4. Only I follows 



Q.48 Statements: Only pillows are bedsheets./ केर्ि 

तदकये ही चािरें हैं।

Only a few pillows are blankets./

केर्ि कुछ तदकए कृं बि हैं।

Few blankets are cover./ कुछ कृं बि 

कर्र हैं।

Conclusions: I. Some pillows are bedsheets./ कुछ 

तदकये बेडशीट हैं।

II. Some pillows are not blankets./ कुछ 

तदकए कृं बि नहीं हैं.

III. Some covers are not bedsheets./ कुछ 

कर्र बेडशीट नहीं हैं.

(IBPS 

RRB PO PRE 2022)

1. Only I follows 

2. Both I and II 

follow 

3. Only III follows 

4. Both II and III 

follow 

5. All follow



Q.49 Statement: Z = Y < W ≥ N > P = Q 

> R Conclusions: I. Z < N 

II. Z ≥ N

(IBPS 

RRB PO PRE 2022)

1. Only I follow 

2. Both I and II 

follow 

3. Either I or II 

follows 

4. Only II follow 



Q.50 Statements: Z < A < N = O; A > B 

> D Conclusions: I. Z > D 

II. N > B

(IBPS RRB 

PO PRE 2022)

1. Only I follow 

2. Only II follow 

3. Both I and II 

follow 

4. Either I or II 

follow 

5. None follow



THANK YOU


